o

T / Product Number

AUX - -

H~ %

H dimension

W%

W dimension

D~Fi%

D dimension

BT =hH)LT—% / Technical Datall

##{+tJLY / Recommended torque : 0.3N=m ~ 0.6N*m

A

TILZRE

Aluminium Feet

L HE R{LHR / Original trapezoid head screw specification

EX (P /H)

Screw (P or H)

[P] 752 / Phillips

75f / Hexagon—socket

8 {L#% / Color Type

itk

Color Type

HEHNZ / Components

No. & %5 / Part name #= / Pcs #ME / Material & - REAWIE / Color-Finish
: a—+—JBvYy 4 TILEF A1 Fv X ADC12 DInN—, TSy B (REERLE)
Corner block Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
) RI#R 4 TILEHRHH A6063S-T5 DW= TSV TILIAND T HE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s HN— : 7ILSHR A1100P DIVIN—, TS99 TILIA
Top cover Aluminium A1100P Silver , Black*Anodized
4 TH/N— 1 7IL2HR A1100P DIIN—, TS99 T ILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
: FILZE A T & YA L DIN— TSV TIRA & TF9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 IRAFER (M3 x 8) 16 % ST AYE
Screw (Flat head M3 - 8) Steel Nickel plated
; BfHE R (EFM3 x 5) 1 &% LAy ZlEIAA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
g BTER (/N1 FM4 x 8) 4 # ZfRoair—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

F05 / Code a—7F—20v% / Corner block {AI#R / Frame $173— / Top cover | TH/8— / Bottom cover | 7JLZR / Aluminium feet
S S 2 )LsX— / Silver 2 )JL713— / Silver 2 )LiN— / Silver 2 )LsS— / Silver 2 )LsN— / Silver
S B 7574 / Black < JLsN— / Silver < JLsN— / Silver < JLsN— / Silver < )LsN— / Silver
B X 7574 / Black 75v% / Black < JLsN— / Silver < JLIN— / Silver < JLIN— / Silver
B B 735v9% / Black 75v% / Black 7597 / Black 759% / Black 75979 / Black

4/ Title
TAKACHI| #AR#tEhFEHIE ZLEavkO—LRYS R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
7 2%/ Approved 18X /Checked #[X]/Created FIF /Product number RE/Scale
iR 3 57 AUX66-43-16AC1-0101 —
{ERL B /Date 2024/09/30 1/ 6

AREDEFIEIHXSHINTFEMITEIZIREELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




153

A-A(1:45)

44

D view

160 =05

0.3

6 =

10.5

59

B view

E view

A view

430 +=0.8

B-B(1:45)

423

C view

F view

113

C-C(1:45)

R

:]

l-@

2

o]

—

&

383

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

7IILTarkao—)LiRvys R
ALUMINIUM CONTROL BOX

o]

7 5%/ Approved

t&X]/Checked

wF

#I[X/Created

FIE /Product number

AUX66-43-16AL1-101

RE/Scale
1:45

{ERL B /Date

2023/07/31

R— /Page

2 /6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A %% / A Frame

380

65

14
ST

B

|

R / Front side

B {l#x / B Frame

2-M3FH SR
2-M3 Countersunk

¥ RXTEEHFEFE / Same on the other side.

ol
O

XM / Front side

58.7

225

—

25

33

T 1

Z M / Back side

% / Back side

anda/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:3
iR £ wF ~R—/Page
H66 — W430 {ERL B /Date 2023/11/217 3/ 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

110 225
™
(to—
™
[ap)
~
S S
2.5
@
™
\-"‘J_'T_‘Ftl
[ap)
<
5 2-M3F YS9 5
2-M3 Countersunk
X RxIEH Rk / Same on the other side. N
R / Front side Z M / Back side
D {8I#% / D Frame
(T
\J""_.‘—J-U
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H66 — D160 YERL B /Date 2023/11/27 4 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494

130

3R / Front side

4194

400

s
\

AH3hT% / Max dim. 383 £ 0.5

A% / Max dim. 113 £ 0.5

6-@4.5

fREE—HAY

Surface protective film side

2 / Back side

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number RE/Scale
1:4
PR =3 BF R—/Page
W430 - D160 {ER B /Date 2023/12/13 5 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4194

400
6-@4.5
4-R14.7 3714 2
1)
o
7o o Phas H /o o AN
'y ™
£
o = ©
1] poy 5 EES
25 i g
~ Surface protective film side
M
$ 5 > 1 o o o
\. / :I§ \ /
i
A3tk / Max dim. 383 £ 0.5 4-M4
M@ / Front side S / Back side
anda/Title
TAKACHI] #R&HAHFEMRTE THsA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T = = RE/Scale
7 5%/ Approved #%[X|/Checked X /Created FIE /Product number
1:4
chif 3 #F e
W430 - D160 {ERL B /Date 2023/12/14 6 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model
	AM_VIEW3
	AM_VIEW5
	AM_VIEW6






